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QUESTION 1

Which tool can automatically install Oracle Cloud Infrastructure CLI?
A. Python

B. RPM

C. APT

D. PIP

Correct Answer: D

References: https://docs.cloud.oracle.com/iaas/Content/API/SDKDocs/climanualinst.htm

QUESTION 2

For what business need should you use Database Cloud Service (DBCS) instead of Oracle database on a compute
instance?

A. to bring your own license on a compute service

B. to lower license and infrastructure cost

C. to implement Oracle RAC for high availability

D. to build an Oracle database on a compute service

Correct Answer: C

QUESTION 3

Which statement is true about the Oracle Cloud Infrastructure File Storage Service Snapshots?

A. Snapshots are created under the root folder of file system, in a hidden directory named .snapshot

B. Snapshots are not incremental

C. You can restore the whole snapshot, but not the individual files

D. It Is not possible to create snapshots from OCI console, but just the CLI

Correct Answer: A

The File Storage service supports snapshots for data protection of your file system. Snapshots are a consistent, point-in-
time view of your file systems. Snapshots are copy-on-write, and scoped to the entire file system. The File Storage
service encrypts all file system and snapshot data at rest. You can take as many snapshots as you need. Data usage is
metered against differentiated snapshot data. If nothing has changed within the file system since the last snapshot was

taken, the new snapshot does not consume more storage Snapshots are accessible under the root directory of the file
system at .snapshot/name. For data protection, you can use a tool that supports NFSv3 to copy your data to a different
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availability domain, region, file system, object storage, or remote location.

QUESTION 4

Which two Oracle Cloud Infrastructure services use a Dynamic Routing Gateway?

A. OCI FastConnect Public Peering

B. Local Peering

C. OCI FastConnect Private Peering

D. Internet Gateway

E. OCI IPSec VPN Connect

Correct Answer: CE

You can think of a DRG as a virtual router that provides a path for private traffic (that is, traffic that uses private IPv4
addresses) between your VCN and networks outside the VCN\\'s region. You use a DRG when connecting your existing
on-premises network to your virtual cloud network (VCN) with one (or both) of these: IPSec VPN Oracle Cloud

Infrastructure FastConnect (Private Only) You also use a DRG when peering a VCN with a VCN in a different region:
Remote VCN Peering (Across Regions)
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QUESTION 5

Which two are NOT an image source when launching a new compute instance? (Choose two.)
A. boot volume

B. custom image

C. Object Storage

D. bare metal instance

Correct Answer: CD

QUESTION 6
You are tasked with creating a highly available clustered application on Oracle Cloud Infrastructure

consisting of three nodes. The round-trip latency between nodes must be less than 500 ? (microseconds) and your
cluster should be resilient to hardware failure.

What is the recommended deployment strategy?

A. Deploy the cluster nodes in a single region and deploy each node into a different AD. Select the same fault domain in
each AD to ensure consistency.

B. Deploy the cluster nodes in two separate regions and take advantage of multiple availability domains (ADs) in each
region.

C. Deploy the cluster nodes in a single region and deploy each node into a different AD.
D. Deploy the cluster nodes in a single region and deploy each node in different fault domains within a single AD.

Correct Answer: D

QUESTION 7

You are the Cloud Architect of a company, and are designing a solution on Oracle Cloud Infrastructure where you want
to have all your compute instances resistant to hardware failure. Which two are recommended best practices to achieve
the requirement on Oracle Cloud Infrastructure? (Choose two.)

A. Create a custom image of your system drive each time you change the image.

B. Attach block volumes from different Availability Domains to compute instances in different Availability Domains for
high availability.

C. Design your system with redundant compute modes in different Availability Domains to support the failover
capability.

D. Create backups of your block volumes that are associated with compute instances in different regions.

Correct Answer: AC
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References: https://docs.cloud.oracle.com/iaas/Content/Compute/References/bestpracticescompute.htm System
Resilience Oracle Cloud Infrastructure runs on Oracle\\'s high-quality Sun servers. However, any hardware can
experience a failure. Follow industry-wide hardware failure best practices to ensure the resilience of your solution. Some
best practices include: Design your system with redundant compute nodes in different availability domains to support
fail- over capability. Create a custom image of your system drive each time you change the image. Back up your data
drives, or sync to spare drives, regularly. If you experience a hardware failure and have followed these practices, you
can terminate the failed instance, launch your custom image to create a new instance, and then apply the backup data.

QUESTION 8

Where are DB Systems backups stored by default?
A. ASM disk group

B. locally attached NVMe on virtual machine

C. block volume

D. object storage on Oracle Cloud Infrastructure

Correct Answer: D

QUESTION 9

Which three are default Virtual Cloud Network (VCN) components? (Choose three.)
A. Security List

B. Dynamic Routing Gateway

C. DHCP options

D. Internet Gateway E. Route Table
Correct Answer: ACE

References:

1)

=> Populated by Default

)

=> Not Populated by Default

Resources

Subnets (0)

Route Tables (1)
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Internet Gateways (0)

Dynamic Routing Gateways (0)
Network Security Groups (0)
Security Lists (1)

DHCP Options (1)

Local Peering Gateways (0)
NAT Gateways (0)

Service Gateways (0)

QUESTION 10

Which two are required parameters to create a public load balancer instance? (Choose two.)
A. certificate

B. load balancer name

C. listener

D. back end set

E. two public subnets

Correct Answer: CD

References: https://docs.cloud.oracle.com/en-us/iaas/Content/GSG/Tasks/loadbalancing.htm

QUESTION 11

You are a system administrator of your company and you are asked to manage updates and patches across all your
compute instances running Oracle Linux in Oracle Cloud Infrastructure (OCI). As part of your task, you need to apply all
the latest kernel security updates to all instances. Which OCI service will allow you to complete this task?

A. Resource Manager

B. OS Management

C. Storage Gateway

D. Streaming E. Registry

Correct Answer: B

Reference: https://blogs.oracle.com/cloud-infrastructure/os-management-with-oracle-cloud-infrastructure
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QUESTION 12

Which two actions will occur when a back-end server that is registered with a backend set is marked to drain
connections? (Choose two.)

A. It disallows new connections to that backend server.

B. It keeps the connections to that instance open and attempts to complete any in-flight requests.

C. It redirects the requests to a user-defined error page.

D. It immediately closes all existing connections to that instance.

E. It forcibly closes all connections to that instance after a timeout period.

Correct Answer: AB

References:

https://docs.cloud.oracle.com/iaas/Content/Balance/Reference/sessionpersistence.htm The Load
Balancing service considers a server marked drain available for existing persisted sessions. New requests

that are not part of an existing persisted session are not sent to that server.

QUESTION 13
What is a "transfer package" when transferring data to OCI via the OCI Data Transfer Service?

A. A transfer package is the logical representation of the physical shipment containing the HDD transfer devices that
you ship to Oracle to upload to OCI.

B. A transfer package is the software Oracle provides for you to prepare transfer devices for shipment to Oracle
C. A transfer package contains the physical devices.

D. A transfer package is the archive file that the Data Transfer Service Utility (dts) writes to the transfer device.
Correct Answer: A

References: https://blogs.oracle.com/cloud-infrastructure/introducing-oracle-cloud-infrastructure-data-transfer- service

QUESTION 14

Which two statements are true about encryption on Oracle Cloud Infrastructure (OCI)? (Choose two.)
A. By default, object storage and block storage are encrypted at rest.

B. A customer is responsible for data encryption in all services of OCI.

C. By default, DB Systems offers an encrypted database.

D. By default, NVMe drives are encrypted but the block volume service is not.
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Correct Answer: AC

References: https://cloud.oracle.com/storage/object-storage/features

QUESTION 15
Which two are valid options when migrating a database from on-premise to Oracle Cloud Infrastructure? (Choose two.)
A. snapping or cloning storage form on-premise to Oracle Cloud Infrastructure

B. performing a backup to Oracle Cloud Infrastructure Object Storage, and then restoring to a database server on
Oracle Cloud Infrastructure

C. performing RMAN backup to an on-premise storage device, and then shipping to Oracle Cloud Infrastructure

D. converting the Oracle database to a NoSQL database and migrating to Oracle Cloud Infrastructure by using rsync file
copy

Correct Answer: AC
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